##
INSTRUCTIONS ARE BLACK CAPITALIZED TEXT.
##
code that is generic to all analyses is red text (may wrap over

##
multiple lines, but CAN’T in the R window).
##
## line prefix indicates all lines that are not code.
##
generic output of commands are normal black text.
##
inputs specific to your dataset are green italicized text.
##
outputs specific to your dataset are blue italicized text.
##
# WITHIN A LINE REPRESENTS NUMERIC INPUT (# OUTPUT) VALUE.
##
---
##
DATA MUST BE IN TAB DELIMITED TEXT FILE TO FOLLOW THIS ROUTINE.

##
IMPORT DATA TO R:
data.name<-read.delim("filename.txt")

##
CHECK THAT COLUMN HEADERS ARE CORRECT:
names(data.name)

##
[1] "var.1"  "var.2"    "var.3"  "var.4"  "..."
##
DOWNLOAD car PACKAGE FROM WEB FIRST TIME BEFORE USE–Packages\Install...

##
LOAD PACKAGE FOR CONDUCTING TYPE 3 ANOVA:
library(car)
##
CONSTRUCT THE MODEL:
model.name<-with(data.name,glm(response.variable~var.1+var.2+var.3+var.4+...,family=family))
##
family CAN BE gaussian, poisson, Gamma(link="identity"), binomial,
##
quasi, quasipossion, OR quasibinomial.
##
ALL COLUMNS OF DATA IN NUMBER FORMAT ARE ASSUMED TO BE RATIO DATA IN R.
##
TO COERCE TO CATEGORICAL USE factor(var.name) AS THE VARIABLE.
##
INTERACTION TERMS MAY BE ENTERED AS var.name*var.name TO INCLUDE

##
INTERACTION AND MAIN TERMS, OR AS var.name:var.name FOR ONLY THE

##
INTERACTION TERM.
##
PRINT ANODEV TABLE:
Anova(model.name,type="III")

##
Anova Table (Type III tests)

##

##
Response: response.variable
##
                   LR Chisq Df Pr(>Chisq)   

##
var.1                #.####  #   #.######
##
var.2                #.####  #   #.######
##
var.3                #.####  #   #.######
##
var.4                #.####  #   #.######
##
...                  #.####  #   #.######
##
---

##
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1 

##
ASSIGN EXPERIMENTAL LR Chisq TO A VECTOR:
exp.chi<-data.frame(data.frame(Anova(model.name,type="III"))[,1])

##
CHECK THAT ASSIGNMENT WAS CORRECT:
exp.chi
##
  data.frame.Anova.model2..type....III......1.

##
1                                     #.######
##
2                                     #.######
##
3                                     #.######
##
4                                     #.######
##
...                                   #.######
##
CHECK THAT INDIVIDUAL VALUE WITHIN VECTOR IS CORRECT:
exp.chi[1,]

[1] #.######
##
ASSIGN RANDOMIZED LR Chisq VALUES TO A MATRIX:

rand.chi<-data.frame(rbind(replicate(####,c(data.frame(with(data.name,Anova(glm(sample(response.variable,##,TRUE)~var.1+var.2+var.3+var.4+...,family=family),type="III")))[,1]))))

##
#### IS NUMBER OF RANDOMIZATIONS.
##
## MUST EQUAL NUMBER OF OBSERVATIONS OF response.variable.
##
CALCULATE RANDOMIZED P-VALUE FOR EACH TERM OF INTEREST:
summary(c(rand.chi[1,])> exp.chi[1,])

   Mode   FALSE    TRUE    NA's 

logical     ###     ###       0 

> summary(c(rand2.chi[2,])>exp2.chi[2,])
   Mode   FALSE    TRUE    NA's 

logical     ###     ###       0 

> summary(c(rand2.chi[3,])>exp2.chi[3,])

   Mode   FALSE    TRUE    NA's 

logical     ###     ###       0 

> summary(c(rand2.chi[4,])>exp2.chi[4,])
   Mode   FALSE    TRUE    NA's 

logical     ###     ###       0 

> summary(c(rand2.chi[...,])>exp2.chi[...,])

   Mode   FALSE    TRUE    NA's 

logical     ###     ###       0
##
### TRUE DIVIDED BY #### RANDOMIZATIONS IS THE P-VALUE FOR EACH TERM.
